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The figures in the margin indicate full marks
for the questions.

(a) State whether the following statements are
correct or incorrect. . 1%5=5

(i) Financial Accounting is the base of
Management Accounting.

(ii) Contribution is the difference between
the sales and the total cost.

(iii) Zero-base budgeting was first used in
~ America.

(iv) In order to control costs, a concern may
use either budgetary control or standard
costing but not both of these techniques.
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(v) Flexible budgets change with the,
of activity. ‘

_ | questions : 5%4=20

; ship between Financial
(b) Fill in the blanks with appropriate WOl e - ccouinae.

i Ratio ? Describe its
» '

(i) Management Accounting is con,
with reporting. F b .

jou the following information :
per unit Rs.15

(i) In marginal costing, stock of fin
goods is valued at —— .

(iii) P.V Ratio can be —— by incr ' Rs. 54,000
selling price. :
gp | Rs. 20
(iv) Standard cost is a cost. fnew T r—

(v) Idle time variance is idle time X it is to be brought down

2. Answer the following questions :

"

' budgetary control.

(a) State two lifnitations of Financial Accou 2
\ , ance budgeting'.

(b) Define 'Marginal cost'. .
:ll ‘
‘variance' and 'Un-

pn

(c) Mention two assumptions of brea

analysis. ’
concerned with
fl to management."
iting the nature of
) 4 10
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(d) What is 'budget-manual' ?

() Give the formula of Labour Eff
~ Variance. i
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Discuss Management Accounting as a tog
planning and exercising control.

tance of the following in
Pomng .. 5+5=10
» b \
5. The expenses budgeted for productlon of 10 N
units in a factory are furmshcd below : 4
b Dr
inual fixed cost of Rs. 1,40,000,
mounted to Rs. 6,00,000 as
#.4,50,000 in 2016. The profit
r A,'OOO higher than in 2016.

Fixed overheads (Rs.100,000) lkseven sales of the company.
Variable expenses (direct) | ' tion in selling price in 2018
Selling expenses (10% fixed) e €ompany desires to earn the
Distribution expenses (20% fixed) QRPIOLit as in 2017, what

quired sales volume ?
Management expenses (Rs.50,000) | 4+6=10
Total

Material
Labour

Variable overheads

- Analysis ? Explain its
Nagerial decision making
4+6=10

Assuming that management expenses are rigj

all levels of production, prepare a flexible b =

fot the production of 8,000 units and 6,000 B Or
i |

Describe the essential steps for adoptlo
budgetary control system. '

¥ uses sunmica tops for tables.
¢ following data :

Sunmica per table 4sq. ft.
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Standard price per sq. ft of sunmica Rs. 5 :
Actual production of table ...... 1,000 numbers
Sunmica actually used ... 4,300 sq.ft

Actual purchase price of sunmica per sq. fi
Rs. 3.50.

Calculate
(i) Material cost variance
(i) Material price variance

(iii) Material usage variance.
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